
COSMO C 10 –
Directivity Extension Guides
• �These factory-included guides extend the COSMO C 10 M/H unit’s horizontal 

directivity from 60° to 80° to make the C 10 a more versatile speaker for a 
wider range of applications.

• �Das horizontale Richtverhalten der COSMO C 10 M/H-Unit kann mit den mit-
gelieferten Directivity Extension Guides von 60° auf 80° ausgeweitet werden. 
Dadurch ergibt sich ein noch flexibleres Einsatzfeld für C 10.

98
40

0x
xx

  D
-3

17
0

Fig./Abb. 1   

Fig./Abb. 5   

Fig./Abb. 2

Fig./Abb. 3   

Fig./Abb. 4   

Installation Instructions 1.0  
The COSMO C 10 comes with a horizontal directivity of 60°. Mounting the 
Directivity Extension Guides extends the throw pattern to 80°. To this end, follow 
these instructions in the indicated order:

1. �Place the COSMO C 10 cabinet on a stable surface.

2. �Use a 3 mm hex key to remove the four side-mounted M5x16 screws holding the 
front grille in place. Leave the quick-release pins attached so the grille remains 
suspended in front of the housing as shown in fig. 1.

3. �Remove the horn’s six factory-installed M5x16 screws (fig. 2).

4. �Place the two Directivity Extension Guides up against the horn using the holes to 
center them (fig. 3), and then attach using the M5x16 screws you removed in the 
previous step (fig. 4).

5. �Follow the instruction for step 2 in reverse order to reattach the front grille 
(fig. 5).

• ��Please read these instructions before installation and keep them for later 
reference.

Montageanleitung 1.0 
Im Auslieferungszustand verfügt die COSMO C 10 über ein horizontales 
Abstrahlverhalten von 60°. Durch Montage der Directivity Extension Guides kann 
der Anwender das Abstrahlverhalten auf 80° ändern. Dazu müssen folgende 
Schritte befolgt werden:

1. �Stellen Sie das umzubauende COSMO C 10 auf einen festen Untergrund.

2. �Lösen Sie mit einem Innensechskantschlüssel 3 mm die vier seitlich befindlichen 
Schrauben M5x16, um das Frontgitter zu lösen. Lassen Sie dabei die QRPs 
befestigt, so dass das Gitter vor dem Gehäuse schwebt (Abb. 1).

3. �Entfernen Sie die 6 Schrauben M5x16, die auf dem Horn vormontiert sind (Abb. 2).

4. �Positionieren Sie die beiden Directivity Extension Guides mit Hilfe der 
Vorzentrierungen auf dem Horn (Abb. 3) und verschrauben Sie diese mit den 
zuvor gelösten Schrauben M5x16 (Abb. 4).

5. �Montieren Sie das Frontgitter, gehen Sie dabei umgekehrt wie in Punkt 2 
beschrieben vor (Abb. 5).

• �Bitte vor Gebrauch lesen und für späteren Gebrauch aufbewahren!

HK Audio® • Postfach 1509 • 66595 St. Wendel/Germany • info@hkaudio.com • www.hkaudio.com
International Inquiries: fax +49-68 51-905 215 • international@hkaudio.com


